= A
Nl = 0o 2 Al
e =ZE 1 3 LegA MA
deg
SANRARI(HES)
DA (ARAY) SEE)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR =
1,287,531 1,195,956 91,575
L2 (883) 532,748 490, 158 42,590
A2 (oE) 14,867 14,200 667
AP 14,867 14,200 667
201 LEt2 A H| 5,067 4,400 667
01 A2 22l | 5,067 4,400 667
O SESALZI| RUES
55,5602 * 3CH 667 0 667
AR (MHALE) 109,106 67,183 41,923
jeaffecg= 109, 106 67,183 41,923
201 LBt 91,373 50,000 41,373
01 AR 22| H| 47,873 6,500 41,373
O 2K B AFI22  39,872,3002 Al 39,873 0 39,873
O 2LOIS3 gtat ¥4 2448
1,500,000 Al 1,500 0 1,500
405 KHaHE SH 1,350 800 550
01 MY EEF SH 1,350 800 550
O A==z A3 0= (ETS)
550,000 Al 550 0 550
AN (HES) 447,000 405,000 42,000
=AY (MEALE) 447,000 405,000 42,000
Ol==2IALY 447,000 405,000 42,000
401 Al 2 HIZ 20H| 447,000 405,000 42,000
01 A& H| 446,000 404,000 42,000
O 2325 A 21,213,000 21,213 20,000 1,213
O dg12| =2l (L=10m)
4,000,00084 * 1Al 4,000 0 4,000
O &2l s2E Y Y42 & H| (L=200m, 700D
L=175m,B=3.0m) (221 & 0 0 30,000 A30,000
O €12l 22 Jdl(L=145m,1000C, L=4m,600
CH(eIEH) 24,921,380 24,922 0 24,922
O =422 otA2H M I (L=700m,B=3.0m)
39,800,050 39,801 30,000 9,801
O DH=42] Dt235t4 S A HI(L=150m, 5000)
16,443,000 16,443 15,000 1,443
O U&52 =2 Z A2 AH(L=300m, B=3.0m) (=L
HA) 0 0 30,000 A30,000
O WES s=2ZTXZAH(L=300m, B=3.0m) (&I
HA) 25,265,520 25,266 0 25,266
O dlgH2] =2 I A2 AH(L=300m,B=3.0m) (£ JI
#HA) 28,437,040 28,438 30,000 A1,562




2N 888
HE: ZolaAAY(HBS)
ol EOISAAY (MAALE) (B9 ®R)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hwsz
O ot=52 =& Z& (L=150m,8-3.0m)
17,660, 0002 17,660 8,000 340
O 2@zl 0+S5h4 = 3 bl (L=200m,600C)
18,502, 7202 18,593 18,000 593
O 432 0hZ2eH20tA 2T E & (L=1kn,B=3.0n
) 26,606,080% 26,607 28,000 ~1,393
O 2242 S2T I YUY +2 E bl (L=170n,8=3.0
m,5000) 30,515,5302 30,516 30,000 516
O 2212l OtA2% M 2] (L=600n,8=3.0m) (=
o) E] 0 20,000 20,000
O 2212l B2l (L=70n, 15008) (2 &)
19,950, 0202 19,951 0 19,951
O 612l =223 AH(L=230n,8=3.0m)
19,101,0702 19,102 20,000 £898
O %832 =& % & (L=200m,8=3.0n)
21,579,0002 21,579 20,000 1,579
O M4z BRET 10,894, 0602 10,895 10,000 895
O &E32l LHCCTVE X 7,743,0002 7,743 8,000 A 257
O =502 Al 4,750,0002 4,750 5,000 250
O F2Y W22 (1Y) E] 0 5,000 A5,000
O 5222 D232 S& B+BA(RIIHY)
4,750,000 4,750 0 4,750
O RWSLH 24(200H) (I Y) i 0 40,000 40,000
O NUHA SHSTE HYBINZS &3 (2
Jlet) 38,999,040% 39,000 0 39,000
O ot212l &2 HMSALER  14,770,3802 14,771 15,000 ~229
O 2362 MSAILSX 8,000,008 * 14 8,000 0 8,000
O ggoel MNY2 HEF T
30,000,0002 * 14! 30,000 0 30,000
BH2AAH (LBE) 307,783 300,798 6,985
SJEE 204,743 197,758 6,985
SJEE 204,743 197,758 6,985
201 L2yl 132,243 124,378 7,865
01 Ak 2tel | 69,177 61,312 7,865
O Lsrxgy| 39,957 32,002 7,865
- EBA AR 242 1,500,000 1,500 1,000 500
- BA S| AHBRSY 242
121,0008 * 102 1,210 0 1,210
- BA ®OISY AFBRASY 242
253,0008 * 122 3,036 0 3,036
- BMN ASALESI B9 UE +48
2,191,0002 * 13l 2,191 0 2,191
- HA =T L IESHY SRS
928,0002! + 13l 928 0 928
405 THHH St 0 830 880
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= A
H = 0 AF AF S & Al A
20149 =& 1 3 ety Ao A
EAh: 418
HHM: SARARI(EANS)

S SMRARI(ERE) (=& &)
£ A .2 () - HEMNY - BHES 01l Ao IR Hns2
SR 980,294 931,229 49,065
SARA2I(H41S) 347,287 326,062 21,225

SANRA2I(ERE) 211,923 197,823 14,100
SAELA2H 137,060 131,460 5,600

301 et A3 134,660 129,060 5,600
058& -01&-EtEEs24S3 134,660 129, 060 5,600
O s & ¢ 126,960 121,360 5,600
-Jlas4g 93,600 88,800 4,800
- &0=2 15,600 14,800 800
FUNXNMEH2 Y 74,863 66,363 8,500
201 Bt H | 66,863 61,863 5,000
01 At 22/t 50,240 45,240 5,000
O 284 45,560 40,560 5,000
- FOUXXMAE 2AF = 39,560,000 39,560 34,560 5,000
405 XtabF S| 6,500 3,000 3,500
01 AL E2SFHSHI 6,500 3,000 3,500
O FUXNXLAH dS5EH P
3,500,000 * 14 3,500 0 3,500
QALY (DRE) 6,050 5,800 250
ARAHLR 6,050 5,800 250
405 XH&HF S HI 250 0 250
01 &L 2 FHSHI 250 0 250
O 2347 250,000& * 1CH 250 0 250
MR (AMGAHAEE) 118,499 111,624 6,875
AAAR 118,499 111,624 6,875
201 LEt2 Y| 43,175 40,700 2,475
01 AFR2t2l bl 17,250 16,700 550
O gBt=ZH| 17,250 16,700 550
- EST A EAZZ O rock key € 2d01E
550,000& * 14 550 0 550
02 =294l 25,925 24,000 1,925
O 8% AHAMNU B 1,925,000 * 14 1,925 0 1,925
401 AIEHIL 20| 4,400 0 4,400
01 Al& Bl 4,400 0 4,400
O FRz2H o2t EHIBA
2,200,000& * 200 & 4,400 0 4,400
FO=IAANP(HANS) 403,000 379,000 24,000
FO=JAMG(MHALEE) 403,000 379,000 24,000




2N 8IS
HE: FOHVANY(HHS)
Sl FOISBAY (MYRALE) (B9 ®R)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
ZOI& ALY 403,000 379,000 24,000
401 AIEHI L 2T HI 403,000 379,000 24,000
01 Al Hl 402,000 378,000 24,000
O #=52 OIE2SIIRAR
7,000,008 * 14! 7,000 0 7,000
O #=z62 DIE2SIIRLR
17,000,0008 * 14} 17,000 0 17,000
O ¥&el =2ZF L Bi+2 SX(5000, L=12
on) (£71#3) 08l 0 20,000 20,000
O ¥&Eel 28017 L WAZEXIZ A (L=22m,
B=0.5m) (£J1#1 ) 20,000,0002 * 1A 20,000 0 20,000
HHSAAY (HHE) 230,007 226,167 3,840
R 157,020 153, 180 3,840
S]EET 157,020 153, 180 3,840
201 et HH| 102,620 98,780 3,840
01 At 22l bl 43,980 43,140 840
O Y8y 21,900 21,060 840
- gpYRERE H4O RN
70,0002 * 404 * 33 840 0 840
02 2zl 58,640 55,640 3,000
O N&ZHIRXHI 8,000 5,000 3,000
-2 |NEs 22 8,000 5,000 3,000




= AH
N = 0 &8 AFH Y & A AN
20148 = 1 3 Uvrs A &M
PN HAS
HHM: SAPASI(RMS)
el SARARI(E2E) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
ZMS 1,178,936 1,083,709 95,227
SARASI(RMS) 360,222 359,422 800
SANRL2F(E2Y) 316,090 315,840 250
SARA2H 266,270 266,020 250
405 KHaHE SH 80,250 80,000 250
01 MY EEF SH 80,250 80,000 250
O plga ez AN 2
250,000 * 1CH 250 0 250
AAALAR (MAHLE) 29,712 29, 162 550
A AR =X 29,712 29,162 550
201 LBt 12,550 12,000 550
01 AR 22| H| 8,550 8,000 550
O Yotx2H| 3,550 3,000 550
- AAFLAAE ADY0IE
550,000 * 14! 550 0 550
FOISAANY (R MS) 528,000 443,000 85,000
FO=QAMNS (MAHALE) 528,000 443,000 85,000
FoI=RAAY 528,000 443,000 85,000
401 Al 2 HIZ 20| 528,000 443,000 85,000
01 A& H| 527,000 442,000 85,000
O HEI2s2EESAM(SZEH L=260m,B8=3m)
(F01&o) 27,500,000 27,500 33,000 25,500
O Ha22|tha=2 8N ZAHES 2L X, L=250m, 1
200A) 21,000,000 21,000 25,000 A 4,000
O de62ltis:2 48X 2 AHE S 204 1110000, L=7
Om, 232 EX&|=120m,8=0.8 17,500,000 17,500 20,000 22,500
O AS22|0tAZ M) ZAHOIAZ S M 2|1
=300m, B=3m) 14,000,000 14,000 20,000 26,000
O A2102I=0IEHEX2M(S0HAER 14!)
19,200,000 19,200 20,000 A 800
O M2t L2 X2 AHEEZ AR, L=50m, 090
0,25 24 XIL=60m,600C) 31,000,000 31,000 30,000 1,000
O X2t 2 8IS AHES 2L X, 1=40m,3
00CE &2 & X, L=60m,500C) 8,000,0002! 8,000 18,000 A 10,000
O 2AM32 2 1HA CCTVA X 17,500,000 17,500 20,000 22,500
O BHHE22| B2 &XZAHES2E X L=200m
, 800B) 10,500,000 10,500 20,000 29,500
O &te22| s 2 I & (L=290m,B=3m)
31,500,000 31,500 35,000 23,500
O MU32tARAMIZAH(RIIHY) 0= 0 38,000 A 38,000
O ZA22IA1HAA RS 2| 2 AH(A=2,303
m)(eIHA) 37,500,000 * 14l 37,500 0 37,500
O AS12FNAEXZAHEIIHA) 0¥ 0 18,000 A 18,000




PN HAS
M ZOSAAY (RAS)
Sl FO=AAS (MUALE) (232
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
O EtH22|Hi 4= 2 F H| 3 AH(L=32m,D600) (2|
3) 15,000,000 * 14! 15,000 0 15,000
O BES12I0tA2HM I BAH(REIIHA) 0 0 20,000 A20,000
O A S22 MHE A 2 AF(L=147m,B=3.5m~3.99m) (£
lEd) 28,500,0002 * 14l 28,500 0 28,500
O 222l 2 2MHA CCTVAEXI(FRIEN)(RIIH
3) 0 0 20,000 A20,000
O 22212 10HA CCTVAXI (=QIE0)(2I1H
4) 18,000,000 * 14! 18,000 0 18,000
O S22 2 X ZAHEIIHA) 0! 0 25,000 A 25,000
O 4E22s2ZH U424 X 2 AHB=3n,L=19
m)(2I1#A) 30,500,000 * 14! 30,500 0 30,500
O DHE12 sS2EA(2I/HY) 0 0 20,000 A20,000
O +E2l0tAZ2HM 2B AHL=154m,B=5m) (¥
lHA) 23,000,0002 * 1Al 23,000 0 23,000
O =&l ATHA(FHN)(BIHA) 0 0 40,000 A 40,000
O OIE12I+=2 8 XL s 2 Z X B AHL=31m, 100
0C, I & =48m,B=3m) (£ H A )
20,300,000 * 14! 20,300 0 20,300
O At222] HAS OAZS M 2|2 AH(L=400m,
B=4m) (22711 d) 30,500,000 * 14l 30,500 0 30,500
O A2 S22 EAQ2I A2 HI 2 AFHL=11
1m,B=2.5m,L=27m,0350) ( £ J| 21,000 0 21,000
21,000,0008 * 14l
O Mz HZE &X 18,000,000 * 14! 18,000 0 18,000
O =2=32 HIISHel (AHE)
3,000,000 * 1Al 3,000 0 3,000
O OtE12] =2 Z & = AHB=3m,L=210m)
25,000,000 * 14! 25,000 0 25,000
O Xt2ot2l, Are32] Hi2 24 X 2 AFH(300C, 400
C) 12,000,000% * 1Al 12,000 0 12,000
O &22|= 2 I &2 AHB=3m,L=110m)
27,000,000 * 14! 27,000 0 27,000
HH2AFH (R MS) 290,714 281,287 9,427
ol 29y 86,000 81,573 4,427
ol 29| 86,000 81,573 4,427
101 @124l 86,000 81,573 4,427
01 B2 86,000 81,573 4,427
O A2z 86,000,000 86,000 81,573 4,427
=2yl 204,714 199,714 5,000
Jl2&H| 204,714 199,714 5,000
201 L9y 145,514 140,514 5,000
01 A2 22| H| 53,160 48, 160 5,000
O gt 29,520 24,520 5,000
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A & 0l & AF 2 E A A
20142 F £Z 13 LS M
SN YR
M ALY (ATH)

Tl BARASH(ERE) (S &2)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
SRSl 1,095,829 1,011,738 84,091
HARA2I(LEA) 413,569 413,478 91

HARARI(ERE) 337,382 337,841 A 459
HAIRAR S 264,231 256,690 7,541

206 = Hl 0 2,000 A 2,000

01 M= dl 0 2,000 A 2,000

O =MASAT(RBEHE) 0& 0 2,000 A2,000

401 Al HIZ 201 I 15,571 17,000 A 1,429

01 A& HI 15,571 17,000 N 1,429

O BAIRA S IA 15,571,000& 15,571 17,000 A1,429

405 TtabF S| 90,970 80,000 10,970

01 AL ESHSH 90,970 80,000 10,970

O sSgagaIl 7,700,000& * 1CH 7,700 0 7,700

O 28 A3 230,000& * 3CH 690 0 690

O FUSESAA=HAAIAE  880,000& * 104 880 0 880
Ooga slog ax 2 AX

1,700,000& = 14 1,700 0 1,700

FUMNEEHZY 68,650 68,650 0

405 TtakF S| 4,500 4,500 0

01 AL ESH SHI 4,500 4,500 0

O Maday dAJ2 2 4,500 4,500 0

- HE A S(RI1HA) 4,500,000& 4,500 2,500 2,000

- MOIZ2& 0& 0 1,000 A 1,000

- AIMOI2 o0& 0 1,000 A 1,000

AFZIID=EHBA2SIEH A 4,501 12,501 A 8,000

307 eIzl & 0 8,000 A 8,000

04 QIZtHAIE XS 0 8,000 A 8,000

O YHINOSYSHSS I = A 02 0 8,000 8,000

AHAR(MHALE) 60,903 60,353 550

falgea e e 60,903 60,353 550

201 et 12,650 12,100 550

01 AP 22l 12,050 11,500 550

O «er==ZH| 550 0 550

- ETS™ ¢ OdiolE 550,000& * 14l 550 0 550

TO=JAANG(LEH) 459,000 386,000 73,000

FU=JAAMNG (MFHLE) 459,000 386,000 73,000

=AY 459,000 386,000 73,000

401 Al HI K 201 I 459,000 386,000 73,000




SN YEH
M ZOISAALY (UED)
Sl FO=AAS (MUALE) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
01 Al&H| 458,000 385,000 73,000
O MEOIAYZCAGHA(RIIHA)
31,100,000 31,100 20,000 11,100
O SY12Ith2=2 FH 2 AH(L=120m,B=1.2m) (=¢!
B0 )(RIIHAE) 36, 100,000 36,100 23,000 13,100
O HZ1 AIE22I0tA2X N 2| 2 AHL=1050m,B
=3.3m) (1 A) 38,700,000 38,700 47,000 28,300
O AS12|Hi =2 & H = AH(L=180m,B=0.8m) (= ¢!
o) (RIIHAE) 10,500,000 10,500 26,000 A 15,500
O Jtat2e| s 2 Z & 3 AH(L=320m,B=3m) (2J|H &
) 34,600,000 34,600 34,000 600
O EXdels2Z &2 AH(L=320m,B=3n) (RJI&A)
38,400,000 38,400 34,000 4,400
O &HE22| Ui 22 F HI 2 AH(L=170m,B=1m) (=8l &
o) (eI18A) 29,700,000 29,700 25,000 4,700
O JteH12IHE 22 F HI 2 AH(L=110m,B=0.5m) (£ DI
Hy) 7,900,0002! 7,900 9,000 A1,100
O 2F22|Hi 22 & Hl 2 AH(L=190m,B=0.8m) (£ |
Hy) 19,800,000 19,800 28,000 28,200
O ME22I 52 ZFH B AH(L=120m,B=3m) (2J|H H
) 15,800,000 15,800 13,000 2,800
O SH22|l 22 & H = AH(L=170m,B8=0.8m) (= ¢!
B0 (RIIHA) 25,100,000 25,100 26,000 A 900
O FXER(RI1HA) 19,700,000 19,700 20,000 A 300
O JI212] MSAEZAHRIIHA)
14,300,000 14,300 15,000 AT700
O 8322 sl+=AL(RI18E) 8,300,000 8,300 10,000 A1,700
O 212l ti2 ZH|lZ AH(L=160m,B=0.5m)
15,000,0008 * 14! 15,000 0 15,000
O T 222 22 = Hl 2 AH(L=50m,8=0.8m)
20,000,0008 * 14! 20,000 0 20,000
O MFANHE =Y SFHHAY
20,000,0008 * 14l 20,000 0 20,000
O Ede NI2gsAle 43
10,000,0008 * 14! 10,000 0 10,000
O |42 MSAE &3 8,000,00084 * 14l 8,000 0 8,000
HAE2A A (UEH) 223,260 212,260 11,000
ol 2H Y| 65,700 64,400 1,300
ol 29| 65,700 64,400 1,300
101 @124l 65,700 64,400 1,300
01 B2 65,700 64,400 1,300
O AN2A2R4E 65,700,000 65,700 64,400 1,300
=&l 157,560 147,860 9,700
Jl=2ZH| 157,560 147,860 9,700
201 YEre gy 107,960 98,260 9,700
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SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&

01 ArR2teltl 44,460 41,760 2,700
O «et==&H| 2,700 0 2,700

- HEA Y EUAHNAU MEFRSE FZH
2,700,000& = 14 2,700 0 2,700
02 =224l 63,500 56,500 7,000
O A& ZHIKXH 7,000 0 7,000
-2 7RANES+ 7,000,000& * 14 7,000 0 7,000




N & 0l & Av S Z M A
201485 =Y 13 s FA
SN 4BIS
HE: EOSANY(HTIS)

Sl FolmAY (FU=TE) CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
HS431s 492,969 473,669 19,300
FU=SJAMNS(HEIS) 82,000 65,000 17,000

FOU=AMG(FUEXE) 82,000 65,000 17,000
FU=RAY 82,000 65,000 17,000

401 AIEHI L 20 82,000 65,000 17,000
01 A& HI 82,000 65,000 17,000
O =12 0tAZ IM LRI S AH(L=180m, B=11
m) 17,000,000& * 14 17,000 0 17,000
HYRIZH(4F1S) 190,843 188,543 2,300
el 2l 52,520 51,520 1,000
2 52,520 51,520 1,000
101 1Al 52,520 51,520 1,000
01 2= 52,520 51,520 1,000
O M2 52,520,000& 52,520 51,520 1,000
JlE&dl 138,323 137,023 1,300
Jl= 3 138,323 137,023 1,300
201 et 97,123 95,823 1,300
01 At 2telHl 47,259 45,959 1,300
O «et==&H| 29,379 28,079 1,300
- NZEPEeE
600,000& * 1HA * 13 600 0 600
- ¥IIY |NB(B2I S)
4,300,000& 4,300 3,600 700




= A
N = 0 &8 AFH Y & A AN
20148 &= =& 1 g L3I A M A
2N dH28
HE: FOSVANY(HF2S)

Sl FRSKBAY(FU=NE) (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
M= 536,667 509,967 26,700
TN (HN2SE) 124,000 104,000 20,000

FO=QMNS(F=XE) 124,000 104,000 20,000
=ol=2IAY 124,000 104,000 20,000

401 AlEHIZ =20 124,000 104,000 20,000
01 Al&H| 124,000 104,000 20,000
O MDD &F e A (BE? 24X N B
A (FOIE0)(2I18Y) 0 0 10,000 A 10,000
O MYDJ EYHEI 2ZAIH02H EX(=21EK)
(20181) 10,000,0008 * 1Al 10,000 0 10,000
O el ol=s3 LEDS LM 3 Ak
20,000,0002 * 14l 20,000 0 20,000
HYSAHAH (HH2S) 215,135 208,435 6,700
Jl2 3| 146,442 139,742 6,700
Il 2| 146,442 139,742 6,700
201 Yt 94,442 87,742 6,700
01 AL 22| H 44,686 42,686 2,000
O getagH| 22,646 20,646 2,000
- oAl SHAAY| 2,200,0009! 2,200 1,200 1,000
-2t sHEm i 1,000,000 * 14l 1,000 0 1,000
02 2229 49,756 45,056 4,700
O 2Ze=2 2 HA 26,880 23,180 3,700
- IS (HHS CCTVEII2 ZEH)
11,300,000 11,300 8,500 2,800
R e = 1,900,000 1,900 1,000 900
O A&EXHI S 8,000 7,000 1,000
- HESA L2 8,000,000&! 8,000 7,000 1,000




N = 0l & At & Ml A

20148 = 1 8 LA A

SN MBS
HH: HHSHAL (HEIS)

Sl ol ) CEEEED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
T 502,244 488,681 13,563
HHLS LAY (HBIS) 184,237 170,674 3,563

L 52,723 51,520 1,203
QA 2H 52,723 51,520 1,203
101 Q1248 52,723 51,520 1,203

01 B 52,723 51,520 1,203
O NZe22+Y 52,723, 0002 52,723 51,520 1,203
o= 2 Hl 131,514 119,154 12,360
EET 131,514 119,154 12,360
201 2Bt | 85,014 69,654 15,360
01 AbR eIl 41,600 36,960 4,640
O sguwe3I *NB

60,0002 * 2CH * 122 1,440 0 1,440
O HH Y= 25,0008 * 4CH * 122 1,200 0 1,200
O NFHIE 8B M 1,000,000 * 2JH 2,000 0 2,000
02 232l 43,414 32,604 10,720

O NISNSGYD2 EUHERS
60,0002 * 122 720 0 720
O ZzZe2 % HAl 27,000 24,000 3,000
S -BlI-E! 3,000,000%! 13,000 10,000 3,000
O BA SEHA SXE4 7,000,008 * 14 7,000 0 7,000
202 01t 26,800 29,800 A3,000
02 2 % 01 bl 25,800 28,800 3,000
O B0l 25,800,0002 25,800 28,800 £3,000




N = 0l & At & Ml A

20148 = 1 8 LA A

SN 8BS
Bu: FOIMEH2Y (M E82S)
el EOIMEHRY(E2E) CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
TEVE 741,609 670,829 70,780
FOHE2Y (4 B2S) 318,457 297,957 20,500
FOHEHSY(52Y) 303,821 283,321 20,500
FoHMEHEZE 237,240 217,240 20,000
401 NEHIL 2 THYI 48,000 28,000 20,000
01 Al& bl 48,000 28,000 20,000
O LEDE XI B A 20,000,00021 * 14} 20,000 0 20,000
FORMEH 2 Y 66,581 66, 081 500
201 Bt | 65,081 64,581 500
02 B2l 9,561 9,061 500
O A& HHIR 500 0 500
PSS IPIEET: 50000021 * 14 500 0 500
EOISRAY (M B2S) 187,500 142,500 45,000
FOUZHAY(FUSNE) 187,500 142,500 45,000
FOSHAY 187,500 142,500 45,000
401 N EHIL 2T 187,500 142,500 45,000
01 A&yl 187,500 142,500 45,000
O OIZDIEAI & BE22(FHA) RIS M
(FOEO-2IIHY) 25,000, 0002 25,000 15,500 9,500
O #B2S172 NS TM(2IIWY)
5,500,0002 5,500 15,000 £9,500
O #8142 0bA 25 M 2| B AH(L=150n,86.7m)
25,000,008 * 14} 25,000 0 25,000
O #2132 2 & 222 H & DA 2 AH(L=100m,B=1
.2m) 20,000,0008 * 14} 20,000 0 20,000
#H2AAY (M B2S) 235,652 230,372 5,280
o= 162,665 157,385 5,280
o= 2l 162,665 157,385 5,280
201 Yer2 | 100,965 95,685 5,280
01 AbR 22l 57,152 54,152 3,000
O gur2yyl 3,000 0 3,000
- BAE DD 1,000,000 * 34 3,000 0 3,000
02 B2l 43,813 41,533 2,280
O ZZT23 % HAl 30,280 27,000 3,280
- ®1e3 15,000,000%! 15,000 12,000 3,000
- $BEM23 S 1,240,000% 1,240 960 280
O ezl 3,533 6,533 A3,000
- AR 22D 3,533,0008 3,533 6,533 3,000
O ANEFHIRXH 2,000 0 2,000
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2,120
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1,600
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25,000
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440
440
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= A
N = 0 &t A AN A
=213 LursH MH
oA S
FOMEHSY(HAS)
ZONHSY(Z2E) CHolE 2l)
2H -3 .2 (FH) - MBAY - BHAS Off AkoH J| A A HpnszZ
oA S 496,086 504,463 8,377
FOMEHSY (WA E) 231,690 219,190 12,500
ZONEHSY(Z2E) 195,890 183,390 12,500
FodHSY 119,970 108,970 11,000
401 AlEHI 2L 201 H| 11,000 0 11,000
01 A&l 11,000 0 11,000
O BA OIZE &3 11,000,000 * 1Al 11,000 0 11,000
SRXMEHSY 75,920 74,420 1,500
405 XHaHE S| 1,500 0 1,500
01 KAt 2 Z 3 S| 1,500 0 1,500
O #AE MU 500,0002 * 3H 1,500 0 1,500
DAY (HAE) 89,523 120,000 A30,477
FOlS A (=0T E) 89,523 120,000 A30,477
FOSAAY 89,523 120,000 A30,477
401 AlEH 2201 89,523 120,000 A30,477
01 A& 89,523 120,000 30,477
O Fo=AS 34,423 40,000 5,577
- BIAE 837 HiAE AlA D AH(L=300M,B=0.5M
J(F=RIE) 14,422 5802 14,423 20,000 5,577
O B1AHZE BHECCTVA X1 (10,000,0008 * 294 A
) 8,100,000 8,100 20,000 A11,900
O BABASASI02S A2l ABS 2HECCT
VA 1 (20,000,0008 * 19HA)  20,000,0002 20,000 30,000 10,000
O BAZ2XQY B2 YHCCTVAXI (10,0
00,0008 * 17H4) ol 0 10,000 210,000
O BAHZLALY MIIZIZ S BECCTVA X (
10,0000008 * 1) ol 0 10,000 210,000
O BidESs D A0l O & 44 (162n)
17,000,000 * 1Al 17,000 0 17,000
M2 AY (M) 174,873 165,273 9,600
2yl 114,766 105, 166 9,600
=2y 114,766 105, 166 9,600
201 LBr2 b 67,466 57,866 9,600
01 A2 el 37,326 34,326 3,000
O wsragy 17,766 14,766 3,000
- SADA OHHEXBAE 350008 * 3074 1,050 0 1,050
- sEn N 700,00090 * 14! 700 0 700
- ANETE DA 250,0002 * 14! 250 0 250
- M TE AREH| 1,000,0002 * 1Al 1,000 0 1,000
02 Zzegl 30, 140 23,540 6,600




SN NS
o HZ2 YA (UAES)
Sl Il = Al
SA - BAEN) - NRAY - LS 0l &F 24 p/E-T
O 3=22= & AA 22,640 16,040
- S422(100,0002 * 6¥) 1,440,000& 1,440 840
- #J122(1,000,0008 * 6&)
12,000, 000& 12,000 6,000




> A
N & 0l & Av S Z M A
20149 = =& 1 3 LB FAl
SN 2SS
H: FOUMEHSI(EES)

Eel: QU2 (ERE) (Sl & &)
SA-EY.B(BH) - PN - BES 0] &b 2 p/E-T HI RS2
EYS 565,053 569,521 A4,468
FUHH2IE(EYSE) 379,494 369,494 10,000

FOHEH2E(ERE) 349,650 339,650 10,000
FoHMEHEZE 342,150 332,150 10,000

405 XtAtE SHI 10,000 0 10,000
01 AL ESFH SHI 10,000 0 10,000
O NHHUEH SAES 23 10,000 0 10,000
-gaE dFED 2,000,000& = 14l 2,000 0 2,000
-AJ = 23 8,000,000& * 14! 8,000 0 8,000
FU=JAMNA(EYSE) 36,332 50,800 A 14,468
FOU=AMG(FUEXE) 36,332 50,800 A 14,468
=AY 36,332 50,800 AN 14,468
401 AIE Bl S CHYI 35,532 50,000 AN 14,468
01 A& HI 35,532 50,000 A 14,468
O A& H] 25,532 40,000 A 14,468

- (HAZHEIEEY =223 AH(L=300M, B=0.5
M) (=gl &0) 13,431,700& 13,432 20,000 N 6,568

- EYS 101220 2HE CCTV X SAH(=
oIEO) 12,099,700& 12,100 20,000 AT7,900
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= AH
N = 0 &8 AFH Y & A AN
20148 = 1 3 Uvrs A &M
2N 241S
HHM: ZOMNMH2G(E41E)

Gel: FOHMEHR2I(ERE) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
241s 641,236 598,588 42,648
FOHERI(RE1S) 266,629 263,629 3,000

FOMER2IE(ERY) 249,810 247,810 2,000
ZOIMEH2Y 161,070 159,070 2,000

405 KHaHE SH 3,400 1,400 2,000
01 MY EEF SH 3,400 1,400 2,000
O 392 dolg 2 2 X 2,000,000 = {4l 2,000 0 2,000
Fo=x(F2=ExE) 16,819 15,819 1,000
ESIR-N 16,819 15,819 1,000
201 LEt2 A H| 4,550 2,550 2,000
01 A2 22| 4,550 2,550 2,000
O Let=2H| 4,550 2,550 2,000
- THoHCHZ 2 oI FHHl Lt
3,000,0002! 3,000 1,000 2,000
206 24l 5,600 6,600 A 1,000
01 XH 24| 5,600 6,600 A1,000
O MZH 5,600 6,600 A 1,000
- I MEZ2EH HBRY 5,600,0002! 5,600 6,600 A 1,000
FO=ANA(RE1S) 172,000 138,000 34,000
FoO=JANG(FUEXE) 172,000 138,000 34,000
Fo=2AAY 172,000 138,000 34,000
401 Al Y2 20| 172,000 138,000 34,000
01 Al&H| 172,000 138,000 34,000
O SWotA =gy Y &I BAHL=72m,24)
12,000,000 * 2JH A 24,000 0 24,000
O 9M1S XS L a2 2AH(SRIE 401
2 ,L=15m) 5,000,00084 * 14l 5,000 0 5,000
O 228 HA(RIHA) 8,000,0008! 8,000 10,000 A2,000
O Y&1E T2&A 2 ISy Y &XIZAH(L=8
Om,B=1.5m) (F=CI &0 )(RIIHA) 2 0 25,000 A 25,000
O NU3E s 2E A2 AH(L=170m,B=3m) (=0l &
o) (RII8A) 19,000,000 19,000 20,000 A1,000
O MNEHIE s2E A L Hi==2 2 AH(L=120m,B=3
m(eIHA) 29,000,000 29,000 30,000 A1,000
O UM1E 142 SXZAH(Z=0RA)(8IH
a) 12,000,0002 * 14! 12,000 0 12,000
O BU2E &2 242 AHL=100m)
5,000,0008 * 14l 5,000 0 5,000
O Y428 Hi=2 & X2 AH(L=126,1000%1000)
FOEON)(2INHA) 30,000,000 30,000 22,000 8,000
O MYIE S22ILE ZEEHZAHL=150m) (8
) 33,000,000 33,000 24,000 9,000
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SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2
HY2IZH (RE1S) 202,607 196,959 5,648
ol 2 gl 61,315 60,107 1,208
ol 2A| 61,315 60,107 1,208
101 1A bl 61,315 60,107 1,208

01 2= 61,315 60,107 1,208

O A28 61,315,000& 61,315 60,107 1,208

JlE &3l 141,292 136,852 4,440
JlE&l 141,292 136,852 4,440
201 LB-2g| 93,992 89,552 4,440

02 =224l 50,984 46,544 4,440

O 3322 2 MAl 32,540 28,100 4,440

- FUSE S RERS 14,700, 000& 14,700 10,500 4,200
-xEe3 1,440,000& 1,440 1,200 240

- 22 -




N & 0l & AF & & A A
2014 T £ 18 LusA A
SN 2825
B FOIMESY(FH2S)

Sel: FOMEHSY(ERY) (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
P 650,896 599,896 51,000
FOHEH2Y(RH2S) 209,266 192,766 16,500

FOHE2Y(ERE) 190,080 73,580 16,500
FodEH=2Y 182,580 166,080 16,500

401 Al41 bl 2 = CH | 29,500 23,000 6,500
01 Al Hi 29,500 23,000 6,500
O 253D 8 S X 2,500,008 * 14 2,500 0 2,500
O FUME XNZEAE X

4,000,008 * 1744 4,000 0 4,000
405 TH&HF SH] 0,000 0 10,000
01 LS EHSH 10,000 0 10,000
O APE 2B2Y S 10,000,002 10,000 0 10,000
FOSAUAY (RH2S) 117,000 97,000 20,000
FoUEBANY(FR=TE) 117,000 97,000 20,000
FO=UAY 117,000 97,000 20,000
401 Al 2 = CH | 117,000 97,000 20,000
01 Al Hi 117,000 97,000 20,000

O H42% Bi+2 &XSA(L=140m, EE2 10
00m*1000m) 20,000,0008 * 14 20,000 0 20,000
HY2AHY (RH28) 324,630 310,130 14,500
o2t 2 bl 65,700 64,400 1,300
ol 2| 65,700 64,400 1,300
101 9121 bl 65,700 64,400 1,300
01 24 65,700 64,400 1,300
O ANztelaesg 65.,700,0002 65,700 64,400 1,300
EET 258,930 245,730 13,200
EET] 258,930 245,730 13,200
201 Ler2 ] 200,030 196,030 4,000
01 AR 22| 162,330 59,330 3,000
O ge+g 31,530 28,530 3,000
-@gm S 6.000,000% 6,000 3,000 3,000
02 B2 37,700 36,700 1,000
O AN&FHR 8,500 7.500 1,000
- BA EJI@40] 8% 500,002 * 2f 1,000 0 1,000
405 X4+ 3 S bl 9,200 0 9,200
01 ML SEHSH 9,200 0 9,200
O FUMH M4 S 2 1,000,008 * 14 1,000 0 1,000
O 38IHITY 7.000,0002 + 14 7,000 0 7,000
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2AH: 2425

M HH2ALH(RH28)

¢l =gl (chel & 9l)
JEH Husz

SN FH-SA(EN) - MBAY - BES

Off &t 24

O APR4 dlio+¢ 400,000& = 3CH

1,200
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